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; Grey line: exponential fit Peak flux: 4.262+/- 0.518 c/s/cm’ ;
E Black line: power law + gauss fit Fluence : 27.30+/- 3.72 c/lcm? =
E Dashed line: power law . ’ ! ' =
= Duration: 13.95+/- 3.14s =
= M Best fit model: 1. =
= Best fluence model: 1. =
= Best duration model: 1. =
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=  Expon.time: 4.44+/- 0.80 s (chi*red= 0.80) J
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; Power law fit é
= Power law index: -1.570+/- 0.247 (chi’-red= 0.80) 3
= + -
g fol i bbb b bt B

= W i M MHWHTHWWWWH ﬁﬂwﬁﬂ ﬁﬂwmﬂWﬁHMWW ﬁﬂﬂﬂﬂwﬁmwﬁ filii H**WWHﬂﬂw#ﬁﬂwmmﬂwﬁ+*H#WWﬂ“ﬁﬁHﬂ‘ﬁ
i I T T T T T T T T T I T T T T T T T T T I T i
— Power law fit plus Gaussian (st.dev.=445.39+/-***** 5, fracgs= 1.24+/- 1.42) =
- Power law index: -1.698+/- 0.320 (chi*-red= 0.79) 3
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